
qm=;+= laa/)f /sd1 sfof{no ;`rfng cg'bfg 241,810s= kl/ifb vr{ 10,000.00v=a}&s vr{ 240,000.00u= ;`rf/ vr{ 10,000.00#= b}lgs e|d)f eQf 100,000.00~= sfof{no Joj:yfkg 150,000.00r= j*f sfof{no dd{t tyf /~ /f]sg 50,000.00%= of]hgf cg'udg tyf lg/LIf)f 50,000.00h= clylt ;Tsf/ 50,000.00em= d;nGb 50,000.00`f= ;jf/L ;fwg -dd{t tyf OGwg_ 100,000.00hDdf 810,000.00
2 k"hLut cg'bfg 6,367,464.002=s nlIft ;d'x 700,419.001= dlxnf nlIft sfo{{qmd 4% 254,698.00s= dlxnf :jd\;]ljsf k|f]T;fxg eQf 45,000.00v= dlxnf l;k ljsf; 100,000.00u= hosnf k|f=lj= b]vL dlxnf ejg df]^/af^f] dd{t -sfo{{ ;DkGg ePsf]_ 109,698.002= afnaflnsf nlIft of]hgf 4% 254,698.00s= ;u/dfyf jfn ;`hfn rf}sL*f¤*f 174,698.00v= v]ns'b ljsf; ;ldlt 80,000.00 v=1 hg;f¤:s[lts o"jf Snj 20,000.00 v=2=Ogb|fjtL o"jf Snj 30,000.00 v=3= v]ns'b ljsf; ;ldlt 30,000.00
3= h]i& gful/s, blnt, ckf~\u, cflbjf;L hghftL 3% 191,0233=s= h]i& gful/s ;Ddfg sfo{qmd 50,000.003=v= blnt l;kljsf; 30,000.003=u= ckf~\u k|f]T;fxg sfo{qmd 50,000.003=#= hghftL ejg e'O{ (nfg 41,023.003=~= hghfu[lt cfdf ;d'x ehg d)*nL ;fdfg vl/b 20,000.002=v ef}lts k"jf{wf/ tkm{ 60% 3,400,227.001= tfnvs{ ;*s lgdf{)f 1,500,000.002= cfv|]sf/L ;*s lgdf{)f 750,000.003= hosnf k|f=lj= b]vL led;]]gyfg x'¤b} tf¤a'^f/;Dd df]^/af^f] lgdf{)f -sfo{ ;DkGg_ 700,000.004= lxdfnL cfdf ;d'x ejg lgdf{)f 300,227.005= hfNkf k|f=lj= e'O{ (nfg 100,000.00

;fNkfl;ln%f] ufp¤kflnsf3 g+= j*f sfof{no rf}sL*f¤*fcg'bfg vr{ af¤*kmf¤*



6= gd'gf o'y Snj v]n d}bfg lgdf{)f 50,000.003,400,227.002=u k|jw{gfTds tkm{ 40% 2,266,818.001= ;]/fj];L ss'jf bf]efg x'b} j*f sfof{no;Dd ;*s dd{t -sfo{ ;DkGg_ 800,000.00
2= hfNkf df=lj= b]vL ss'jf;Dd ;*s dd{t -sfo{ ;DkGg_ 100,000.003= vfg]kfgL{ tkm{ -kfOt tyf l;d]G^ vl/b u/L pkef]QmfnfO{ a'emfO{g]_ 400,000.004= ljBfyL{ k|f]T;fxg sfo{qmd -s=sIff 12 pTtL{)f pTs[i^ cWoog/t ljBfyL{ 2 hgfnfO{ ? krfF; xhf/sf b/n] / v= P; =O{ =O{ pTtL{)f cfly{s cj:yf sdhf]/ EfO{ aflx/ uO{ cWoog/t %fqf 1 hgf krf; xhf/ . 150,000.005= ;fpg] kGrsGof k|f =lj ejg dd{t 75,000.006= hfNkf df= lj O^/g]^ ;~rfng 150,000.007= k~rdLbf];fw] k]lN^;]^ dd{t 30,000.008= sf&]k'n dd{t bf];fw]  20,000.009= s}s' ljB't cf]v|] 100,000.0010= vx/] lksf] xfO*f] kfj/ dd{t 150,000.0011= wfg emfg]{ d]l;g vl/b ltGtfdf 100,000.0012= hosnf k|f=lj e"O{ (nfg 50,000.0013= lxdfno cfwf/e"t ljBfno v]n d}bfg 177,800.002,302,800.003 cfGtl/s ;|f]taf^ 302,000.001= hfNkf df=lj= Uoflj~jfn 150,000.002= hLjg Hof]tL cfdf ;d'x 50,000.003= sd{rf/L tne eQf df# b]vL c;f/;Dd 102,000.004= ut aif{sf] cNofaf^ cfo ljkt Joj:yfkg 25,025.00a]df};dL t/sf/L 19,500.00hDdf 44,525.00Jojk|x/L rf}sL s'n'~ ;f]nf/ vl/b 25,025.00hfNkf df=lj= %fqf ;f}rfno dd{t 19,500.00
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ufp¤kflnsf tyf s]Gb|df dfu ul/Psf] of]hgfx? 
ufp¤ kflnsfsf] sfo{no rf}ls*f¤*f af^ ;a} j*f sfo{no;Dd df]^/af^f] lgdf{)ftfFj'^f/ led;]gyfg x'Fb} ufp¤ kflnsf;Dd df]^/af^f] lgdf{)f tfnvs{ ;*s lgdf{)f of]hgf cf]v|]sf/L ;*s lgdf{)f ;fNkf ;fd'bfoLs Pkm= Pd ;`rfngufp¤kflnsf :t/Lo v]n d}bfg 
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qm=;+ gfd kb1 zflGtaxfb'/ clwsf/L j*fWoIf2 r]tdfg /fO{ ;b:o3 lbns'df/ /fO{ ;b:o4 zf/bf #n] ;b:o5 lx/fdfof zfsL{ ;b:o6 ;Gtf]if s'df/ emf j*f ;lrj

s[lif, kz', jg, lzIff, dfnkf]t, gfkL / ufp¤kflnsfsf] ejg lgdf{)fs]Gb|o ljB't k|;f/)f nfO{ h*fg

s'n'ª ;fd"bfoLs ejg lgdf)f{ of]hgf lnnfkm'ª u'Daf lgdf{)fj*f sfo{no a}&s sIf dd{t :jfYo s]Gb| ejg lgdf{)f ahf/ Joj:yfkg rf}ls*f¤*fO{nfsf k|x/L rf}sL

t/sf/L kmnk'n ks]^ If]q of]hgf 

ljhovs{ vfg]kfgL of]hfgf ss'jf vf]nf vfg]kfgL dd{t of]hgf j*f sfo{noaf^ x'x{/] lkof]u ;*s lgdf{)fdf]^/]an k'n lgdf{)f ;]/fa];L bf];fw] vf]nf emf]n'ª\u] k'n la/f}6f tfn vf]nf emf]n'ª\u] k'n uf]ef vf]nf l;rfO{ ljho^f/ s'nf] dd{t ;'?jfn] l;rfO{ of]hgf ss'jf vf]nf l;rfO{ of]hgf hfNkf df=lj %fqjf; lgdf{)f

j*f ;ldltsf] gfdfjnL

dfN^]gL vf]nf vfg]kfgL of]hgf 
ufp¤kflnsfb]lv %f}+;f, sflTts], xs{^], u'Daf ko{^g ;'wf/ of]hgf aHh/] vfg]kfgL of]hgf  


